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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 477 59.47 | EnRS | 000 ~ 0.00| 1.756 8.83 st 1.00 | 6.00 ~ 5.00 59.47 | FhLS | 5,00 ~ 6.00| 1.75 8.83
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 5.70 71.530 | NS | 000 ~ 570 1.80 9.09 st 1.00 | 6.00 ~ 6.40 71.30 | ThSY | 6,00 ~ 6.40 | 1.80 9.09
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 598 74.96 | TS | 000 ~ 000 | 1.74 879 st 1.00 | 6.00 ~ 6.80 74.96 | ThSY | 5,00 ~ 6.80| 1.74 879
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ b5.59 69.78 | =nst | ooo ~ 000 | 1.69 8563 st 1.00 | .00 ~ 6.20 69.78 | =nLS | 5,00 ~ 6.20| 1.69 868
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 6.05 75.87 | FnLS | 000 ~ o0.00| 1.63 822 st 1.00 | .00 ~ 7.20 75.87 | ThLS | 6,00 ~ 720\ 1.63 822
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ b5.54 69.15 | Th4 | 0oo ~ 0.00| 1.62 821 st 1.00 | 6.00 ~ 6.30 69.15 | Thst | 6.00 ~ 6.30| 1.62 821
- 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S -~ — — —
s 1.00 | 0.00 ~ 5.12 63.84 | FnLSY | 0.00 ~ 0.00| 1.69 8563 st 1.00 | 5.00 ~ 5.50 63.84 | ThS | 5,00 ~ 550 1.69 8.68
P 100kN/mM%E#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS -~ — — —
s 1.00 | 0.00 ~ 6.31 79.37 | EnLS | 000 ~ 631|179 9.03 st 1.00 | 6.00 ~ 740 79.37 | #hSY | 6,00 ~ 740 1.79 9.03
9 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 461 57.46 | =hLs | 000 ~ 000 1.69 8.06 st 1.00 | 6.00 ~ 5.00 57.46 | ThLS | 5.00 ~ 6.00 | 1.59 8.06
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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